Format for Tender Uploading at www.tenders.gov.in

Organization Name	Bharat Coking Coal Limited						
Organization Type	Public Sector Undertaking Ministry				Ministry	Ministry of Coal	
Tender Title*	Construction of water vet at O.B. Dump for water spraying of plantation near Keshalpur						
	Magazine, AKWMC under Katras Area-IV .						
Tender Ref. No.*	BCCL/GM/IV/Civil/Quotation/2013-14/3665 Dated: 08/09.07.2013						
Product Category*	Civil Works						
Sub-Category	Construction work						
Tender Value (INR)*	₹ 66,806.28 EMD: ₹669.00			Documer	Document Cost*:NIL		
Tender Type*	Open Tender	Open Tender					
Type of Bidding*	Single Bid	Two	Bid	YES	Three	Bid	Four Bid
Location*	AKWMC under Katras Area-IV						
First Announcement Date*	08/09.07.2013						
Publication date on Portal	Automatic from system At						
Last date of document collection	20.07.2013	0.07.2013 Up to			05:00 P.M.		
Last date for submission	22.07.2013		Up to		03:00 P.N	VI.	
Opening Date	24.07.2013		At		04:00 P.N	04:00 P.M.	
Work Description*	Construction of wate	r vet					
Pre-Qualification	As per NIT						
Pre-Bid Meet Date							
Tender Document#	YES						
Corrigendum Document#							
Bid Document#							
Tech. Document#							
Sector	Coal						
State	Jharkhand						

Note: * indicates mandatory fields.

indicates that the file name should be given. It should match with the file name sent by e-mail. This is to confirm that the softcopy of tender document has been forwarded to EDP Department through email: edp@bccl.qov.in

Signature of Tendering Authority



BHARAT COKING COAL LIMITED

(A Subsidiary of Coal India Limited) Office of the General Manager, Katras Area <u>P.O. Sijua Distt. Dhanbad - 828121</u>

Ref. No. BCCL/GM/IV/Civil/Quotation/2013-14/3665

Dated: 08/09.07.2013

QUOTATION NOTICE

Sealed quotation on percentage rate above/below basis on prescribed bill of quantity in two parts (Part-I & II) are invited from the reputed contractors for the following works. The quotation is also available on website <u>http://www.bccl.gov.in</u> and can be downloaded:-

<u>SI.</u>	Nature of Job & location	Estimated Cost	Earnest	Cost of	Time of
<u>No.</u>			<u>Money</u>	<u>Tender</u>	Completion
				<u>Paper</u>	
1	Construction of water vet at O.B. Dump for water spraying of plantation near Keshalpur Magazine, AKWMC under Katras Area- IV	₹66,806.28	₹669/-	Nil	20 Days

Availability of bill of quantities :- 16.07.2013 to 20.07.2013

Date and time of receipt/opening of tender

- 1) The quotation will be received on **22.07.2013** from 10.00A.M. to 3.00 P.M. in tender box kept at
 - i) Office of Astt. Commandant, CISF camp, Angarpathara in Box marked Katras Area IV.
 - ii) CISF Post, near Koyala Bhawan gate, Koyala Nagar, BCCL, Dhanbad in Box marked Katras Area -IV.
- 2) The tenders received will be opened on 24.07.2013 at 04:00 P.M. onwards in the office of Chief Manager (Civil)/ACE, Katras Area.

Eligibility criteria:-

a) The intending tenderer must have in its name as a prime contractor experience of having successfully completed similar works during last 7 (seven) years ending last day of month previous to the one in which bid applications are invited should be either of the following:-

Three similar completed works each costing not less than the amount equal to 40% of the estimated cost.

(OR)

Two similar completed works each costing not less than the amount equal to 50% of the estimated cost.

(OR)

One similar completed work costing not less than the amount equal to 80% of the estimated cost.

b)Similar work means: Construction of Building.

c) Average annual financial turnover of civil works during the last 3 (three) years, ending 31st March of the previous financial year (i.e. for, 2010-11, 2011-12 & 2012-13), should be at least 30% of the estimated cost.

Contd.....pg2/-

- 3) The bill of quantity can be had from the office of the Chief Manager(C)/ACE, Katras Area, Dhanbad during the mentioned above, Part-I shall consist of earnest money, technical bid & credential. Part-II shall consist of bill of quantity duly filled in for rate, amount etc.
- 4) Earnest Money should be deposited with the Sr. F.O./Cashier, Katras Area.
- 5) Authority reserves the right to reject any or all the tender received or split-up the work between two or more tenderer's without assigning any reasons what so ever.
- 6) It will be obligatory for the quotationers to keep their offers open for acceptance for a period of 120 days from the date opening of the tender the date of negotiation. Contractors have to acquaint himself with thee condition before submitting the tender.
- 7) The NIT with general rules & reasons for guidance of the quotations or general, special condition of as accepted from time to time will be part of the contract documents.
- 8) Contractors have to abide by the Labour Regulation Act.
- 9) Tender without earnest money will not be considered.
- 10) Tenderer should also give details of their PAN& Sales tax clearance certificate with attested byGazetted Officer.
- 11) No materials will be issued by the department for this work.
- 12) Declaration regarding genuineness of the documents submitted & no relationship in BCCL in original.
- 13) Declaration that they have not been banned on de-listed by any Govt. or Quasi Govt. agencies or PSU's.
- 14) Minimum 20% un-skilled workers are to be engaged by the tenderers from Project affected peoples.

Area Civil Engineer, Katras Area-IV

Copy to:-

- General Manager, Katras Area. 1)
- 2) Sr. Manager (Mining), Katras Area.
- 3) Sr. Manager (Finance), Katras Area.
- 4) APM, Katras Area.
- 5) 6) All Project Officer, under Katras Area.
- C.I.S.F. post, near Koyla Bhawan gate, Koyla Nagar, BCCL, Dhanbad,
- 7) C.I.S.F. post, near main gate of Katras Area.
- 8) Sr. Cashier, Katras Area.
- 9) EDP section, Katras Area.
- 10) Notice Board.

<u>Bill of Quantity for Construction of water vet at O.B. Dump for water</u> <u>spraying of plantation near Keshalpur Magazine, AKWMC under</u> <u>Katras Area-IV.</u>

Sl.	Item	Unit	Quantity	Rate	Amount
<u>No.</u> 1	Earth work in excavation by mechanical means (Hydraulic excavator) / manual means foundation trenches, drain not exceeding 1.5 m in width as well as 10 sqm on plan including dressing of sides and ramming of bottom, lift up to 1.5 m including getting out the excavated soil and disposal of surplus excavated soil as directed within a lead of 50 m. (All kinds of soils).	cum	26.81	130.80	3506.74
2	Providing and laying cement concrete of specified grade excluding the cost of centering and shuttering in all works up to plinth level : 1:4:8 (1cement : 4coarse sand : 8graded stone aggregates 40 mm nominal size).	cum	1.83	3593.30	6575.73
3	Providing and laying in position specified grade of reinforced cement concrete excluding the cost of centering, shuttering, finishing and reinforcement in all works up to plinth level: 1:2:4 (1cement : 2coarse sand : 4graded stone aggregates 20 mm nominal size).	cum	2.77	4703.90	13029.80
4	ReinforcementforRCCworkincludingstraightening,cutting,bending, binding and placing	kg	222.00	62.25	13819.50

			I	
in position complete: Cold				
twisted bars.				
5 Brick work with FPS bricks of class designation 50 in foundation and plinth using cement mortar 1:6 (1cement : 6coarse sand).	cum	7.11	3058.35	21744.86
6 Cement concrete flooring 1:2:4 (1cement : 2coarse sand : 4graded stone aggregates) finished with a floating coat of neat cement including cement slurry but excluding the cost of nosing of steps etc. complete: 40 mm thick with 20 mm nominal size stone aggregates.	sqm	11.24	280.05	3147.76
7 12mm cement plaster finished with a floating coat of neat cement of mix: 1:4 (1cement : 4fine sand).	sqm	25.70	153.45	3943.66
8 Providing and laying cement concrete of specified grade excluding the cost of centering and shuttering in all works up to plinth level : 1:2:4 (1cement : 2coarse sand : 4graded stone aggregates 20 mm nominal size).	cum	0.23	4514.05	1038.23
			Total (₹)	66,806.28

Rupees Sixty six thousand eight hundred six and paise twenty eight only.

(In figure) (in words) % above / below / on the estimated cost.

Area Civil Engineer, Katras Area

Signature of the Tenderer